
75

0414-163

0412-146
0412-147

0414-142

0414-141

2506-005
2500-051

0412-157

2525-001

2533-005

2500-062

0402-597

0412-149

0412-148

2534-005

0412-150

0412-139

2509-015

0414-118

0402-523

2500-068
2537-002

2521-082

0414-117

2509-015

0402-5232500-068

0412-138

2506-005

2505-001

2500-061
2505-006

2532-015

0412-143

0412-140

2524-001

2532-030

2500-068
2521-061

2504-028

2509-015

0412-139

0414-143

2509-012

2507-001

2539-015

2521-079
2500-054

2500-054

2534-006

0412-141

0412-142

2534-007

2505-006

2531-002

2532-028

2525-007

0412-236

2500-068

2506-0210412-145

2506-029
0414-163

2505-013

76

SF Brg. ホルダー�ø13
SF bearing holder ø13
SE テールハウジング�
SE tail housing
SD カウンターギヤプーリー�16Tセット�
SD counter gear pulley 16T set
SD テールプーリー�16T
SD tail pulley 16T
テールブームパイプ L=695
Tail boom pipe L=695
SD ラダーサーボマウント�
SD rudder servo mount
SD ラダーコントロールガイド�
SD rudder control guide
SD ラダーコントロールロッド M2XL642
SD rudder control rod M2XL642

SD テールユニットケース�
SD tail unit case

SD テールプーリー�16Tシャフト付�
SD tail pulley with 16T shaft
SD テールピッチプレートセット�
SD tail pitch plate set
SD テールピッチレバーセット�
SD tail pitch lever set
SD テールハウジングセット�
SD tail housing set
SD テールブレードホルダー�
SD tail blade holder
SD テールブレード L=87
SD tail blade L=87
テールピッチレバーカラー�
Tail pitch lever collar

カウンターギヤ�17T
Counter gear 17T
カウンターギヤシャフト�
Counter gear shaft
テールピッチプレートボス�
Tail pitch plate boss
テールピッチリンクセット�
Tail pitch link set
テールシャフト�
Tail shaft
スライド軸�
Slide shaft
Brg. ø4Xø8X3ZZ
Brg. ø6Xø10X3ZZ
Brg. ø4Xø9X4ZZ
Brg. ø4Xø9X4H スラスト�
Bearing ø4Xø9X4H thrust
Brg. ø5Xø13X4ZZ
タイミングベルト 60S3M1572
Timing belt 60S3M1572
M2ナット�
M2 nut
M3ナイロンナット�
M3 nylon nut
M2.6ナット�
M2.6 nut
FW4X6X0.5T

FW6X8X0.3T
E-リング�ø1.5
E-ring ø1.5
ミゾ付平行ピン�2X11. 6
Grooved parallel pin 2X11.6
ロールピン�ø2X12
Roll pin ø2X12
カラー 5X8X2. 5
Collar 5X8X2.5
カラー 6X7X3
Collar 6X7X3
カラー 5X6.5X14
Collar 5X6.5X14
M2ロッドエンド�
M2 rod end
ø5ボール�
ø5 ball
EX ø5ボール� 台�付�
EX ø5 ball with stand
セットスクリュー M3X5
Set screw M3X15
キャップスクリュー M3X15
Cap screw M3X15
キャップスクリュー M2X8
Cap screw M2X8
キャップスクリュー M2.6X8
Cap screw M2.6X8
ナベ頭ビス M2X8
Pan-head screw M2X8
タッピングスクリュー M2X10 2種スリワリ�
Tapping screw M2X10 type 2
タッピングスクリュー M2.6X12 2種�
Tapping screw M2.6X12 type 2
タッピングスクリュー M3X12 クロ�
Tapping screw M3X12 black
座金付タッピングスクリュー M2.6X16
Tapping screw with washer M2.6X16
ガイドピン M3X6. 3
Guide pin M3X6.3

0402-523

0402-597

0412-138

0412-139

0412-140

0412-141

0412-142

0412-143

0412-236

0412-145

0412-146

0412-147

0412-148

0412-149

0412-150

0412-157

0414-117

0414-118

0414-141

0414-142

0414-143

0414-163

2500-051
2500-054
2500-061

2500-062

2500-068

2504-028

2505-001

2505-006

2505-013

2506-005

2506-029

2507-001

2509-012

2509-015

2521-061

2521-079

2521-082

2524-001

2525-001

2525-007

2531-002

2532-015

2532-028

2532-030

2533-005

2534-005

2534-006

2534-007

2537-002

2539-015

1

1

1式�
1 set

1

1

1

1式�
1 set

1

各１�
Each 1

1

1式�
1 set
1式�
1 set
1式�
1 set

2

2

1式�
1 set

1

1

1

1式�
1 set

1

1

2
2
2

2

2

1

20

10

20

10

5

10

2

10

2

2

2

10

10

10

10

10

10

10

20

10

10

10

10

2

400

800

1,800

600

1,000

1,000

500

500

1,000

1,200

1,800

1,000

3,500

500

400

500

300

700

500

500

700

1,500

1,200
1,200
1,200

1,200

1,200

1,700

200

200

200

100

500

100

300

500

300

500

500

500

500

1,000

300

400

800

800

100

100

100

100

500

500

組立済�
Pre-assembled
ロールピン付�
Roll pin attached

ネジ付�
Screws attached
ネジ付�
Screws attached
ロッドエンド付�
Rod ends attached

ネジ、ナット付�
Screws and nuts attached

組立済�
Pre-assembled
Brg.  付�
Bearings attached
ネジ、ガイドピン付�
Screws and guide pins attache

d
ネジ、Brg.  付�
Screws and bearings attached
ネジ付�
Screws attached

M6ナット薄型付�
With M6 nut (slim)

コード�No.
Code No.

品　　　　名�
Name

入数�
Q'ty

価格�(円�）�
Unit price in yen

備　　考�
Remarks

FW5X7X0.1T2506-021 5 400


